






• Mahesh is standing facing north. He turns 180° in the clockwise direction and 

then 45° in the same direction and then 270° in the anticlockwise direction. In 

which direction is he facing now?

• महशे उत्तर की ओर मखु करके खड़ा ह।ै वह दक्षिण़ावर्त क्षदश़ा में 180° मडुऱ्ा ह ैऔर क्षिर उसी 

क्षदश़ा में 45° और क्षिर व़ाम़ावर्त क्षदश़ा में 270° मडुऱ्ा ह।ै वह अब क्षकस क्षदश़ा की ओर उ्मखु ह?ै

A.South-West

B. South-East

C. North-East

D.North-West



•SSC CHSL (Tier - 1) Online Exam Paper 

- 2020 "held on 04 August 2021"

•Afternoon-Shift (General Intellience)



• Statements:

• All Trucks are cars./सभी ट्रक क़ार हैं।

• No wheel is a car./कोई पक्षहय़ा क़ार नहीं ह।ै

• No car is a bus./कोई क़ार बस नहीं ह।ै

• Conclusions:

• I.    No bus is a truck./कोई बस ट्रक नहीं ह।ै

• II. No wheel is a bus./कोई पक्षहय़ा बस नहीं ह।ै

• III.    Some cars are trucks./कुछ क़ारें ट्रक हैं।



• Four words have been given, out of which three are alike in some manner and 

oneis different. Select the word that is different.

• च़ार शब्द क्षदए गए हैं क्षिनमें से र्ीन क्षकसी प्रक़ार से एक िैसे हैं और एक क्षभ्न ह।ै क्षभ्न शब्द क़ा 

चयन कीक्षिए।

A. Peso

B. Baht

C. Oslo

D. Rial



• Three of the following four letter-clusters are alike in a certain way and one is 

different. Select the odd one.

• क्षनम्नक्षिक्षखर् च़ार अिर-समहूों में से र्ीन एक क्षनक्षिर् र्रीके से सम़ान हैं और एक क्षभ्न ह।ै क्षवषम 

क़ा चयन करें।

A. LQVA

B. KPUZ

C. TYDI

D. BGLP



• Select the combination of letters that when sequentially placed in the blanks of 

the given letter series will complete the series.

• अिरों के उस संयोिन क़ा चयन करें िो दी गई अिर श्रंखि़ा के ररक्त स्थ़ान में क्रक्षमक रूप से रखे

ि़ाने पर श्रंखि़ा को परू़ा करेग़ा।

• Z H _ O R C _ _ K _ R _ Z H _ O _ C

A. K, Z, H, K, R, K, R

B. Z, H, K, O, C, K, R

C. K, Z, O, R, C, K, R

D. K, Z, H, O, C, K, R



• Select the option that represents the correct order of the given words as they 

would appear in an English dictionary.

• उस क्षवकल्प क़ा चयन करें िो क्षदए गए शब्दों के सही क्रम क़ा प्रक्षर्क्षनक्षित्व करऱ्ा ह ैिैसे वे अंगे्रिी 

शब्दकोश में क्षदख़ाई देंगे।

• 1. Presume

• 2. Prepare

• 3. Priority

• 4. Prince

• 5. Prick

A.2, 1, 4, 5, 3

B. 2, 1, 5, 3, 4

C. 1, 2, 5, 4, 3

D. 2, 1, 5, 4, 3



• Select the option in which the numbers are related in the same way as are the 

cnumbers of the following set.

• उस क्षवकल्प क़ा चयन करें क्षिसमें संख्य़ाए ँउसी र्रह संबंक्षिर् हैं िैसे क्षनम्नक्षिक्षखर् सेट की संख्य़ाएँ 

हैं

• (42, 14, 294)
A.(36, 21, 360)

B. (34, 18, 306)

C. (21, 15, 205)

D.(30, 16, 242)



• Which of the following pairs of letters will be on the opposite faces when the 

given sheet is folded to form a cube?

• क्षनम्नक्षिक्षखर् में से अिरों क़ा कौन स़ा यगु्म क्षवपरीर् ििकों पर होग़ा िब दी गई शीट को एक घन 

बऩाने के क्षिए मोड़ा ि़ाऱ्ा ह?ै

A. S and C

B. T and V

C. C and W

D. Q and S



• Which two signs should be interchanged to make the given equation correct?

• क्षदए गए समीकरण को सही करने के क्षिए क्षकन दो क्षचह्नों को आपस में बदिऩा च़ाक्षहए?

• 21 + 5 – 45 × 9 ÷ 3 = 11

A. + and ×

B. + and –

C. ÷ and ×

D. × and –



• Four number-pairs have been given, out of which three are alike in some 

manner and one is different. Select the one that is different.

• च़ार संख्य़ा-यगु्म क्षदए गए हैं, क्षिनमें से र्ीन क्षकसी प्रक़ार से एक िैसे हैं और एक क्षभ्न ह।ै वह चनुें 

िो क्षभ्न हो।

A. 484 : 22

B. 322 : 18

C. 225 : 15

D. 289 : 17



• Select the option that is related to the third term in the same way as the second 

term is related to the first term.

• उस क्षवकल्प क़ा चयन करें िो र्ीसरे पद से उसी प्रक़ार संबंक्षिर् ह ैिसेै दसूऱा पद पहिे पद से 

संबंक्षिर् ह।ै

• POSTED : TPQEFU : : COUNTS : ?
A.VPETVO

B. UQDTUO

C. VPDTUO

D.VPTDOW



• In a certain code language, BACK is written as YEXP and MIXTURE is 

written as NOCGAII. How will FROGS be written in that language?

• एक क्षनक्षिर् कूट भ़ाष़ा में BACK को YEXP और MIXTURE को NOCGAII क्षिख़ा ि़ाऱ्ा 

ह।ै उस भ़ाष़ा में FROGS कैसे क्षिख़ा ि़ाएग़ा?

A.UIUTH

B. UULTG

C. VIVTH

D.UILTG



• Barun is the son of Chetan. Advita and Chetan are a married couple. Prakul is 

the brother of Chetan. Diya is the daughter of Advita. Suman is the brother of 

Barun. How is Diya related to Barun?

• बरुण, चेर्न क़ा पतु्र ह।ै अक्षिऱ्ा और चेर्न श़ादीशदु़ा हैं। प्रकुि, चेर्न क़ा भ़ाई ह।ै दीय़ा अक्षिऱ्ा की

बेटी हैं। समुन बरुन क़ा भ़ाई ह।ै दीय़ा बरुण से क्षकस प्रक़ार संबंक्षिर् ह?ै
A. Sister

B. Aunt

C. Cousin

D. Mother



• Select the number from among the given options that can replace the question 

mark (?) in the following series.

• क्षदए गए क्षवकल्पों में से उस संख्य़ा क़ा चयन करें िो क्षनम्नक्षिक्षखर् श्रंखि़ा में प्रश्न क्षचह्न (?) को

प्रक्षर्स्थ़ाक्षपर् कर सकर्ी ह।ै

• 14, 16, 34, 104, 418, ?
A. 2092

B. 1894

C. 1560

D. 2158



• What was the day of the week on 22 February 2012?

• 22 िरवरी 2012 को सप्त़ाह क़ा कौन स़ा क्षदन थ़ा?

A.Tuesday

B. Friday

C. Thursday

D.Wednesday



• How many triangles are there in the figure given below?

• नीचे दी गई आकर क्षर् में क्षकर्ने क्षत्रभिु हैं?

A.10

B. 8

C. 11

D.9



• Select the option that is related to the third word in the same way as the second 

word is related to the first word.

• उस क्षवकल्प क़ा चयन करें िो र्ीसरे शब्द से उसी प्रक़ार संबंक्षिर् है िैसे दसूऱा शब्द पहिे शब्द से 

संबंक्षिर् ह।ै

• Africa : Algeria : : South America : ?
A.Canada

B. Mexico

C. Germany

D. Argentina



• In a code language, if RAFT is written as 180 and DON is written as 99, then 

how will SHOWER be written in the same language?

• एक कूट भ़ाष़ा में, यक्षद RAFT को 180 और DON को 99 क्षिख़ा ि़ाऱ्ा ह,ै र्ो उसी भ़ाष़ा में 

SHOWER को कैसे क्षिख़ा ि़ाएग़ा?

A.225

B. 165

C. 528

D.448


